

# Brunswick/Yankee Lanes Scratch (5123)

Thursday 7:00 pm

## Yankee Lanes Entertainment

Lanes 3 - 34

USBC Certification:

### Team Standings

Place	Lane	#	Team Name	Points		Team Avg	Scratch Pins	High Game	High Sers
				Won	Lost				
1	8	31	TEAM 31	106	44	818	56403	936	2678
2	26	20	Team 20	101	49	795	54704	931	2618
3	33	1	TEAM 1	91½	58½	792	54378	953	2543
4	12	14	THUNDER BALLZ	89	61	797	55197	945	2587
5	19	32	RKC Bowling Team	89	61	793	54509	942	2513
6	9	19	Team 19	88½	61½	797	55070	909	2560
7	23	17	Team 17	86	64	787	54518	951	2527
8	10	25	TEAM 25	86	64	774	53652	917	2535
9	17	8	3 Holes & 1 Goal	85½	64½	791	53590	917	2569
10	29	7	TEAM 7	81½	68½	775	54030	903	2501
11	24	26	TEAM 26	81½	68½	780	53902	935	2482
12	27	10	TEAM 10	81	69	796	54769	945	2525
13	11	11	TIBB	79	71	799	55075	950	2617
14	4	23	Zacc Attacc	78	72	800	55006	958	2723
15	30	12	TEAM 12	77	73	783	54142	961	2527
16	34	15	TEAM 15	75½	74½	779	53371	923	2578
17	13	2	TEAM 2	71½	78½	768	52973	890	2515
18	22	4	TEAM 4	71	79	773	53542	899	2596
19	6	6	That Cat Is Mine	71	79	776	53272	902	2525
20	14	16	DARYL'S DOOM SQUAD	70	80	756	52752	923	2539
21	20	30	BOHICA	69	81	777	53387	917	2640
22	7	18	STRIKE 'EM ALL	69	81	771	52917	918	2502
23	5	9	TEAM 9	66½	83½	770	53244	916	2563
24	16	29	DTILA	64	86	794	55005	948	2586
25	25	24	Team 24	64	86	782	53886	938	2576
26	21	13	TRACK BOWLING	63	87	775	53369	915	2603
27	28	5	JACKS QUACKS	62	88	775	53117	892	2545
28	15	22	DILLIGAF	60½	89½	774	53541	965	2619
29	32	21	God Dammit Kyle!	59	91	773	53417	977	2707
30	3	27	TEAM 27	59	91	770	53260	900	2505
31	18	3	Team 3	56½	93½	765	51612	857	2447
32	31	28	Magoo's Crew	48	102	784	54237	949	2685

### Review of Last Week's Bowling.....

Lanes	Team Name	-1-	-2-	-3-	Total	Last Wk WON		Team Name	-1-	-2-	-3-	Total	Last Wk WON
3-4	DILLIGAF	778	698	<b>766</b>	2242	11	<--->	DARYL'S DOOM SQUA	<b>804</b>	<b>774</b>	707	<b>2285</b>	14
5-6	STRIKE 'EM ALL	821	<b>855</b>	731	2407	9	<--->	3 Holes & 1 Goal	<b>848</b>	848	<b>805</b>	<b>2501</b>	16
7-8	TEAM 9	790	802	<b>776</b>	2368	12	<--->	TEAM 25	<b>804</b>	<b>861</b>	737	<b>2402</b>	13
9-10	TEAM 31	<b>862</b>	<b>827</b>	<b>847</b>	<b>2536</b>	19	<--->	TIBB	738	797	788	2323	6
11-12	Team 19	<b>789</b>	719	708	2216	8½	<--->	TEAM 2	783	<b>777</b>	<b>817</b>	<b>2377</b>	16½
13-14	THUNDER BALLZ	<b>831</b>	<b>778</b>	<b>808</b>	<b>2417</b>	19	<--->	Zacc Attacc	754	765	786	2305	6
15-16	TEAM 27	<b>783</b>	<b>812</b>	<b>716</b>	<b>2311</b>	21	<--->	Team 3	691	698	684	2073	4
17-18	DTILA	805	<b>861</b>	774	2440	7	<--->	That Cat Is Mine	<b>855</b>	798	<b>872</b>	<b>2525</b>	18
19-20	Magoo's Crew	659	<b>848</b>	<b>838</b>	2345	10	<--->	TEAM 7	<b>811</b>	841	767	<b>2419</b>	15
21-22	TEAM 26	<b>785</b>	723	670	<b>2178</b>	11½	<--->	TEAM 1	714	<b>758</b>	<b>698</b>	2170	13½
23-24	TRACK BOWLING	<b>786</b>	819	782	<b>2387</b>	13	<--->	Team 20	717	<b>826</b>	<b>826</b>	2369	12
25-26	Team 17	742	<b>879</b>	787	2408	8	<--->	TEAM 10	<b>762</b>	858	<b>877</b>	<b>2497</b>	17
27-28	Team 24	<b>869</b>	693	751	2313	7	<--->	TEAM 12	819	<b>926</b>	<b>775</b>	<b>2520</b>	18
29-30	JACKS QUACKS	<b>886</b>	884	752	2522	8	<--->	BOHICA	862	<b>917</b>	<b>861</b>	<b>2640</b>	17
31-32	RKC Bowling Team	<b>788</b>	<b>843</b>	765	<b>2396</b>	17	<--->	TEAM 15	630	803	<b>830</b>	2263	8
33-34	TEAM 4	<b>802</b>	<b>805</b>	742	2349	12	<--->	God Dammit Kyle!	724	771	<b>870</b>	<b>2365</b>	13

### Lane Assignments

	<u>3-4</u>	<u>5-6</u>	<u>7-8</u>	<u>9-10</u>	<u>11-12</u>	<u>13-14</u>	<u>15-16</u>	<u>17-18</u>
Today	27-23	9-6	18-31	19-25	11-14	2-16	22-29	8-3
Next Week	9-18	2-14	16-23	27-22	29-3	8-6	31-25	19-11
	<u>19-20</u>	<u>21-22</u>	<u>23-24</u>	<u>25-26</u>	<u>27-28</u>	<u>29-30</u>	<u>31-32</u>	<u>33-34</u>

**Lane Assignments - continued**

	<u>19-20</u>	<u>21-22</u>	<u>23-24</u>	<u>25-26</u>	<u>27-28</u>	<u>29-30</u>	<u>31-32</u>	<u>33-34</u>
Today	32- 30	13- 4	17- 26	24- 20	10- 5	7- 12	28- 21	1- 15
Next Week	26- 13	5- 12	7- 30	28- 32	15- 21	4- 1	17- 20	10- 24

**Last Week's Top Scores**

Team Scratch Game				Team Scratch Series			
	926	TEAM 12		2640	BOHICA		
	917	BOHICA		2536	TEAM 31		
	886	JACKS QUACKS		2525	That Cat Is Mine		
Scratch Game				Scratch Series			
<b>Men</b>	290	Cam Paquette		781	Eric Jones		
	279	Russell Hagan		748	Russell Hagan		
	279	Scott Crement		732	Scott Hartnett		
	279	Eric Jones					
<b>Women</b>	256	Christa Harvey		711	Christa Harvey		
	246	Gillian Williams		645	Gillian Williams		
	244	Hillary Elefson		610	Abby Porter		

**Season High Scores**

Team Scratch Game				Team Scratch Series			
	977	God Dammit Kyle!		2723	Zacc Attacc		
	965	DILLIGAF		2707	God Dammit Kyle!		
	961	TEAM 12		2685	Magoo's Crew		
Scratch Game				Scratch Series			
<b>Men</b>	300	Phil Gamache		804	Russell Hagan		
	300	Michael Sutton		801	John Koufos		
	300	Steve Hardy Jr		799	Eric Jones		
	300	Russell Hagan		799	Mike Fecteau		
	300	Steve Harris					
	300	Nate Batchelder					
	300	Kamal Shelat					
	300	Carey Ross					
	300	John Koufos					
	300	Brian Taylor					
<b>Women</b>	300	Christa Harvey		749	Christa Harvey		
	288	Daryl D'Angelo		730	Daryl D'Angelo		
	269	Abby Porter		729	Abby Porter		

**Team Rosters**

ID #	Name	Pins	Gms	Avg	Points Won	ID #	Name	Pins	Gms	Avg	Points Won
<b>1 - TEAM 1</b>						<b>2 - TEAM 2</b>					
1	Jill Hebert	10609	60	176	54.0	5	Michelle Gauthier	7411	52	142	14.0
2	Phil Gamache	10398	54	192	35.0	6	Brian Asselin	12188	66	184	42.5
4	Ian Cluff	10913	54	202	28.5	7	Steve Hardy Jr	14214	66	215	56.5
3	Michael Sutton	15334	69	222	53.0	8	Russell Hagan	13637	60	227	48.0
<b>3 - Team 3</b>						<b>4 - TEAM 4</b>					
10	Mike Bruce	5363	30	178	16.5	13	Ray Scienzo	11251	63	178	41.5
9	Travis Blackwell	9228	50	184	33.0	14	Lenny Singh	11363	60	189	32.0
146	Ronald Foley	10306	54	190	41.5	15	Amanda Dozet	8749	45	194	19.5
12	Glen Roy	14103	66	213	41.0	16	Dave Paradis	13411	63	212	33.0
<b>5 - JACKS QUACKS</b>						<b>6 - That Cat Is Mine</b>					
17	Hillary Elefson	11283	63	179	52.0	21	Patrick Lizer	11402	69	165	41.0
20	Scott Crement	13555	69	196	47.5	22	Phil Prince	6491	33	196	31.0
18	Aaron Stewart	11246	57	197	26.0	23	Christa Harvey	13520	66	204	46.5
19	Jack Batchelder	12841	63	203	36.5	24	Jeff Moul	12465	59	211	26.0
<b>7 - TEAM 7</b>						<b>8 - 3 Holes &amp; 1 Goal</b>					
25	Dennis Barnes	8706	48	181	40.0	27	Carlos Gonzalez	9858	57	172	36.0
28	Oren Colegrove	11632	60	193	39.0	176	Bill Tasso	3322	18	184	5.0
26	Mark Bedard	12620	63	200	41.0	31	Steve Harris	13597	66	206	50.0
29	Mark Brennan	10669	53	201	28.0	32	Eric Jones	15856	69	229	71.0

ID #	Name	Pins	Gms	Avg	Points		ID #	Name	Pins	Gms	Avg	Points	
					Won	Lost						Won	Lost
<b>9 - TEAM 9</b>					<b>10 - TEAM 10</b>								
33	Kelsey Slade	11322	69	164	36.5		131	Nick PREVOST	9604	54	177	44.0	
34	Fred Rehm	13289	69	192	52.0		38	Lucky Lanciano	11663	63	185	32.0	
35	Joe Hassard	13015	66	197	36.5		39	Ryan Stobbs	14365	69	208	42.0	
36	Mike St Jean	11096	51	217	33.5		40	Mike Fecteau	14971	66	226	58.0	
<b>11 - TIBB</b>					<b>12 - TEAM 12</b>								
41	Toni-Marie Vaughn	11294	66	171	48.0		45	Jordan Lewis	11917	66	180	57.0	
43	Brett St Hilaire	11303	60	188	37.0		46	Xavier Morel	12033	63	191	37.5	
42	Luke Bednarz	13945	66	211	50.0		47	Keith Martin	13422	66	203	44.0	
44	Scott Hartnett	15803	69	229	66.0		48	Joe Corrente	14483	69	209	38.0	
<b>13 - TRACK BOWLING</b>					<b>14 - THUNDER BALLZ</b>								
49	Derek Anderson	10316	66	156	33.0		53	Ryan Croto	12574	69	182	52.0	
50	Scott Liggett	10868	57	190	38.0		54	Kevin Voisine	8877	46	192	26.0	
51	Jason Dotson	13674	66	207	50.0		55	Dan Plourde	13442	66	203	40.5	
52	Russ Michaud	13339	60	222	46.0		56	John Croto	14563	66	220	59.0	
<b>15 - TEAM 15</b>					<b>16 - DARYL'S DOOM SQUAD</b>								
57	Anne Cote	9794	64	153	20.0		63	Katie Hannigan	9779	57	171	26.0	
60	Jeff Gosselin	12221	60	203	46.5		133	Robert Wezalis	12778	69	185	45.0	
58	Blake Thoroughgood	11348	54	210	43.5		64	Curtis Harris	12477	63	198	44.0	
59	Nate Batchelder	13046	61	213	44.0		62	Daryl D'Angelo	13992	69	202	41.5	
<b>17 - Team 17</b>					<b>18 - STRIKE 'EM ALL</b>								
65	Heather Griebel	12048	69	174	56.5		69	Arnold Dennis	8879	54	164	29.0	
66	Jacob Scheer	13753	69	199	58.0		70	Ryan Honda	11175	60	186	39.0	
67	John Horne	13933	69	201	54.0		71	Cam Paquette	13895	66	210	52.0	
68	Kamal Shelat	14122	66	213	40.0		72	Ryan Church	13326	63	211	38.0	
<b>19 - Team 19</b>					<b>20 - Team 20</b>								
73	Michael Burns	12580	69	182	55.0		77	Brenden Bourassa	9970	63	158	36.0	
75	John Kelly	13567	69	196	46.0		78	Eric Banks	14229	69	206	67.0	
74	Stephen Stopyro	13732	69	199	44.5		79	Steve Whalen	13395	63	212	48.0	
76	Jake Paradis	15191	69	220	51.0		80	Jake Ziarnowski	13835	63	219	38.0	
<b>21 - God Dammit Kyle!</b>					<b>22 - DILLIGAF</b>								
81	Kyle Steere	12145	69	176	47.0		85	Bob Slater	12043	66	182	59.0	
82	Ryan Nazzaro	12359	66	187	41.5		86	Dylan Harvey	13243	69	191	39.0	
83	Gil Chamberlain	12039	63	191	39.5		87	Noah Slater	13565	69	196	37.5	
84	Bill Sheehey	15141	69	219	48.5		88	Rob Harvey	12948	63	205	27.0	
<b>23 - Zacc Attacc</b>					<b>24 - Team 24</b>								
89	Charles Schrieber	10528	63	167	49.0		93	Jeff Maher	12282	69	178	44.0	
90	Abby Porter	12148	60	202	45.5		94	William Barnett	11311	60	188	43.0	
91	Zach Melanson	14019	69	203	56.5		95	Steve Neuman	13250	66	200	47.5	
92	Cam Pellerin	15067	66	228	52.0		96	Mike Cardullo	14284	66	216	53.0	
<b>25 - TEAM 25</b>					<b>26 - TEAM 26</b>								
97	Bonnie Guevin	10187	66	154	25.0		101	Malcolm x. Strickland	8372	48	174	31.5	
98	Denny Reid	9813	51	192	34.0		102	Herb Goff	12830	69	185	67.0	
99	Steve Crisp	12895	63	204	57.5		103	Michael Weakley	9973	51	195	33.0	
100	Bernie Sutton	14786	66	224	59.0		104	Ryan Salemi	15626	69	226	54.5	
<b>27 - TEAM 27</b>					<b>28 - Magoo's Crew</b>								
105	Chuck Beaudry	9801	63	155	26.0		109	Marybeth Mahoney	10389	63	164	32.0	
139	Ryan Edgar	13690	69	198	55.0		110	Mariann Klosin	11447	60	190	36.0	
107	Charlie Griffin	13571	66	205	36.5		112	Carey Ross	13389	63	212	42.5	
108	Steve Hardy Sr	11496	54	212	34.5		111	Mike Klosin	11781	54	218	39.0	
<b>29 - DTILA</b>					<b>30 - BOHICA</b>								
113	Ken Levesque	11444	66	173	38.0		117	Matthew Bemis	10582	60	176	52.0	
114	Shaun Williams	11702	63	185	39.0		118	Brian Taylor	11197	60	186	33.0	
115	Dan Levesque	13972	66	211	46.5		119	Tyler Jasinski	13084	63	207	43.0	
116	John Koufos	15578	69	225	47.0		120	Chad Rees	13122	63	208	39.0	
<b>31 - TEAM 31</b>					<b>32 - RKC Bowling Team</b>								
121	Steve Perry	12127	63	192	60.0		125	Gillian Williams	10856	62	175	46.0	
122	Gregg M. Laufersweiler Jr	12409	63	196	44.0		126	Chris Roy	11487	60	191	37.0	
123	Brandon Coffman	12587	60	209	48.5		127	Chris Williams	12443	60	207	42.0	
124	Darryn G. Martin	15262	69	221	44.0		128	Dave Burke	14528	66	220	42.0	

### Temporary Substitutes Division 1: Enter Div Label

#### Men Division 1: Enter Div Label

Name	Avg	Pins	Gms	High Game	High Sers	-1-	-2-	-3-	Total
Justin Conway	bk198	523	3	190	523				0
Zach Cooper	bk171	0	0	0	0				0
Storm DeVincent	214	5157	24	278	713				0
Dan Dow	bk180	1560	9	196	537				0
Keith Duclos Sr	189	4727	25	268	654				0
Gene Emmons Jr	bk154	437	3	166	437	125	146	166	437
Sean Frazier	bk181	1030	6	189	522				0
John Goguen	bk174	600	3	221	600				0
Paul Goulet	bk218	638	3	256	638				0
Greg Griebel	bk222	1231	6	214	622				0
Alexander Hadik	174	3660	21	221	570	139	167	192	498
John Hodorowski	bk190	0	0	0	0				0
Derek Huggins	bk214	662	3	236	662				0
Fred Jasinski Jr	197	5927	30	269	680	194	181	166	541
John Kallelis	182	8233	45	225	628				0
Zach Labrie	bk200	1057	6	242	592				0
Joel Leider	bk190	1049	6	199	570	175	137	167	479
Bob Longo	192	2885	15	227	624				0
WILLIAM LUSSIER	179	3770	21	266	665				0
Stephen Lynch	211	4450	21	261	689	225	199	205	629
Hunter Mack	192	4237	22	260	639				0
Dave Mannion	bk187	1701	9	220	588				0
Nate Marquis	207	3733	18	257	667				0
Skyler Marquis	bk188	539	3	204	539				0
Steve Medeiros	bk203	650	3	300	650	182	168	300	650
Tom Menken	bk191	1194	6	248	602				0
Tom Menken	0	0	0	0	0				0
Colbe Moul	bk205	577	3	224	577				0
Karl Nystrom	bk220	1927	9	248	698				0
Ronald Paquette	bk211	1235	6	224	641				0
Panthavy Pradachith	bk202	568	3	214	568				0
Jakob Prive	214	6441	30	268	706				0
Chris Quinones	218	7215	33	269	714				0
John Rauser	bk207	761	3	268	761				0
Mike Richardson	174	3666	21	238	599				0
Jarrett Roseboom	214	3215	15	238	669				0
Scott Rousselle	232	2793	12	279	739				0
Patrick Savage	bk213	564	3	206	564				0
Glenn Smith	215	646	3	237	646				0
Ken Smith	bk211	648	3	238	648				0
Doug Thoroughgood	196	2946	15	226	607	194	202	181	577
Stephen Torigan	bk190	0	0	0	0				0
Garren Walters	bk177	487	3	177	487				0
Ryan Wheeler	bk189	493	3	187	493				0
Steve Williams	bk202	613	3	216	613				0
Dave Wilson	170	4602	27	222	586				0

#### Women Division 1: Enter Div Label

Name	Avg	Pins	Gms	High Game	High Sers	-1-	-2-	-3-	Total
Lauren Adams	bk155	508	3	176	508				0
Samantha Batchelder	167	4518	27	230	595				0
Melissa Boban	bk155	395	3	147	395				0
Dang Dilger	165	2485	15	213	539	176	176	127	479
Lisa Foley	156	3284	21	208	528				0
Heather Kallelis	177	3718	21	213	565				0
Lynn Kempf	172	2068	12	195	543				0
Sabrina Quinones	209	6289	30	265	721	210	192	183	585
Amanda Villandry	bk155	361	3	124	361				0